Name: Solvtions

Worksheet 11.3 — The Integral Test and Estimates of Sums

1) Formally show whether the infinite series is convergent. (LT: 4b)
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Worksheet 11.4 — The Comparison Tests

1) Use the Comparison Test to show whether the series is convergent or divergent. (LT: 4b)
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2) Use the Limit Comparison Test to show whether the series is convergent or divergent. (LT:4b)
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Worksheet 11.5 — Alternating Series and Absolute Convergence

1) Show whether the following series are absolutely convergent, conditionally convergent, or divergent.
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2) Approximate Z( )' such that |error| <0.005. (LT: 4f)
~ n!
) A IIN P B o R
7—-,—-:\ 2% % 24 *hzo ~ 720 o
A" e PRI R lerror| & 720 700
e A f e
=1 ! - O
i 0-wor20=5* . 7e = 19
~ L= T 20 3p
|2 O o
0.p3333 0333
30 ) 19,0099
156099
1 0@
_a—

100



